
 
 
 
 

 
 
 
 
 

 



 
 

 
 

 
 
 

 





 
  



Draw   a    distance/time   graph    for   the   following   train   journey:  
1. A   train   goes   from   Gordon   to   Warrawee   (3   km)   in   2   minutes.  
2. It   stops   at   Pymble   for   1   minute  
3. It   then   goes   from   Pymble   to   Turramurra   (4   km)   in   2.5   minutes  
4. It   stops   at   Turramurra   for   30   seconds  
5. It   then   goes   from   Turramurra   to   Warrawee   (3   km)   in   1.5   minutes  
6. It   then   stops   at   Warrawee.  
 

 
 
 


